No. of Printed Pages : 10 MEC-001

MASTER OF ARTS (ECONOMICS)
(MEC)
Term-End Examination

December, 2021
MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as

directed.

Section—A

Note : Answer any two questions from this Section.

1.

20 each

(1) Discuss the role of conjectural variation in
Stackelberg’s model of duopoly.

(1) Two firms producing a homogeneous
product face the demand and cost functions
given by :

P=100-0.5 (X1 + Xy)
C1=5X; and C2 = 0.5 X3

Find the equilibrium output and profit of
the firms using Stackelberg’s model of
price leadership.

P.T.O.
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2. What do you understand by a social welfare

function ? If you assume that such a function
exists, what properties of social optimal would

be considered by you ? Discuss such properties.

Suppose that individual ¢ has utility function of

the form :
u; (xl + oA (G’)), I = 1,2

Here x is a private good and G i1s the public
good. Show that the optimal provision of the
public good will be independent of the optimal

allocation of private good.

A consumer’s prevalences over a single good x
and other goods y is represented by the utility

function :

u(x,y) = log(x) +y
If the price of x is p and the price of y = 1, and
income m >1 :
(a) Derive the Marshallian demand for x and y.
(b) Derive the indirect utility function.

(¢) Use the Slutsky equation to decompose the
effect of an own-price change on the
demand for x into an income and

substitution effect.
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Section—B

Note : Answer any five questions from this Section.

12 each

Consider a 2 person 2 commodity pure
exchange economy with :

U = Q1192
u, = qb

2 = 491 49
q11 T 4921 = ¢

and Q19 + Q99 = Q5.

Derive the contract curve as an implicit
function of q;; and ¢;5. What conditions on the
coefficients o and B ensure the contract curve
to be a straight line ?

The pay-off matrix of strategies adopted in sum
and hide game between a hunter and a prey is

given as :
Prey i
Run Hide
Hunter
Run (60, 20) (0, 0)
Hide (0, 0) (20, 60)

Find the mixed-strategy Nash equilibrium of
the game.

P.T.O.

7.

10.
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Discuss the approaches adopted by Pigou and
Pareto for analysing the problem of welfare
economics.

Critically examine the arguments put forth by
Baumol in his model of alternative theory of the
firm.

Consider a lottery with three possible outcomes :
T 100 will be received with probability 0.1;

% 50 will be received with probability 0.2;

T 10 will be received with probability 0.7.

(1) What is the expected pay-off of the lottery ?

(11) What would a risk-neutral person pay to
play the lottery ?

(111) Suppose an individual has von-Neumann-
Morgenstern utility function u(y) = NI
What would she pay to play the lottery ?

Suppose a firm’s cost function is differentiable.

Let xi (wy,wy,y) (i =1,2) be the conditional

input demand for input ¢ and w,;,w, are prices

of inputs 1 and 2, respectively, and y is the
output. Prove the following :

ox;
(a) 6_wl-(w1’w2’y) <0

l
(b) x; (twy,twy, y) = x; (wy,wy,y)  for any

constant £ > 0.
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11. Write short notes on any fwo of the following :

(a)
(b)
(©)
12. (a)

(b)

Translog production function

Pooling equilibrium

Envelope theorem

Explain algebraically the concept of Budget

constraint using the approach indifference
curve.

Explain compensated demand curve.

P.T.O.
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2. GHIS® Hedwl Hed § Y & Flﬂ@l?f % ?

gfe o9 T "Ad 8 fF o wen offmae d
Tl ? @ e feafa o wmifee stshoEar i
SHA-d fogmaet W e famR WA 2 =
faivaret w == wifsu

. AF ifse f& =afem @ &1 SuFifiar ®ed 39

TR fen 2

ui(xi+vi(G)),i:]_,2
Tl W x U AfGTa o%g € a1 G Hresieh
g% 21 u% feEny & gdeste o W@

FIRATH YEYH AfKET o % HESITR
Jde | WA=l sl

. Thd 9 x % ST A I y % IUHKI &
A I 39 YA BT 51 YeiRia o
TI'QT%:

u(x,y):log(x)+y
If€ x a%g 1 HHAd p € R y T HI HIE
y=1 T AA I m o> 1 %,?ﬁ:
(a) x qqT y I I ARG T H HAA
HIFST
(b) 3T YA Hed AT iU

P.T.O.
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(c) WI-&hiHd [HE HT M YHE  qAl
yfqzemus g9 & foenE B9 WASEh! i

THRT0T T YIMT HiTS4|
a—4

He : 39 9 9 fR=l uter gvHl & I S|

Tk 12

5. 4 HAfF wd q oeRg dent favrg faftea

srefereeen W faar wifsw, sE

U = Q11912

u2=q§1q22

411 T 421 = 0
s Qyo + g = Gy |
q; & g % I=iHied  HoH (implicit
function) & ®4 H Y ok hl FIH
HIY o o B TONRI W HiA-E TWMC Hiaw
oI % Teh W @ e 1 Tiyed et € 2

- ﬁmﬁnﬁﬁwaﬁaﬁaaﬂguﬁm@a(run

and hide game) % 3G STUATE T WHIfA i
gfauifiaal &1 3798 (matrix) 39 YFR B

(60, 20) 0, 0)

TP
\?a's’ fouma
e

foua

(0, 0) (20, 60)
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0.1 Wifaehar & Y % 100 9« foRd S|

0.2 WifeRar & Y T 50 W< B

0.7 WfeRar & Y T 10 W< B

() el &1 ety gfawifa == € ?

(i) @l Ber & fau Sifem qexy =Aafe
A TN ?

(i) 7 @ fF ww wfm @
- - AR EERIIRGI] e
u(y)=+y B @ 9 dld @ & fau
F A HAM ?

P.T.O.
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10. A9 oifSu for T FH 1 @G B SThRH

11.

12.

T Tl oM o & emar i w1 wRitA S WM x
g 9 w, A w, A 1 Al 2 F HAA: Hed
gy va1 ? @ Frefafea = fag sifee .

. ox;
(1) 8wl- (wl,wz,y) <0

l

1) « (twl,twg,y) = x; (wl,wz,y)

ferelt ot emer ¢ & forw &l ¢ >0

frafafeas & @ f&<f @t W wfaa  feoof
fafau

(31) 2T ST el (Translog

production function)
(9) HH=IIq ¥<aq (Pooling equilibrium)

(|) 37l T4 (Envelop theorem)

(F) TeEIAl oh foveluul Sfeshion &1 YA

L gq 93 09 (Budget constraints)
hi STEIYRON i SATEAT hHifSU

(@) «fquLer | ok 1 SATEAT HITST]
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